Long Division
(without remainder)

Name

Score

DS:III:26

1 26) 51,064 2)  48) 12,912
—_ Q —_
R = R =

3) 10) 95,640 4 34) 46,036
—_ Q —_
R = R =

>)  88) 24,552 6)  72) 69,624
—_ Q —_—
R = R =

7) 69) 87,561 8) 93)36,735
—_ Q —_
R = R =
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Long Division
(without remainder)

Name

Score

Answer key DS:1II:26

1 26) 51,064 2)  48) 12,912
Q= 1,964 Q= 269

R= 0 R= o0

3) 10) 95,640 4 34) 46,036
Q= 9,564 Q= 1,354

R= 0 R= 0

>)  88) 24,552 6) 72) 69,624
= 279 Q= 967

R= 0 R= 0

7) 69) 87,561 8) 93)36,735
Q= 1,269 Q= 395

R= 0 R= 0
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